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QUESTION 1

Which two statements are true about af:tree? (Choose two.) 

A. You can show only one outputText per node in aftree. 

B. To modify the data fields shown in a node of a tree created with ADF binding, you need to edit the tree bindings. 

C. You can specify a filter for a tree\\'s node based on an attribute value at design time. 

D. Trees can display, at the most, a three-level-deep hierarchy. 

Correct Answer: AC 

 

QUESTION 2

What is the first step you perform to secure an ADF application? (Choose the best answer.) 

A. Edit the web.xml file and adf-confiq.xml file to include the ADF authentication servlet configuration. 

B. Merge the application roles into the deployment server\\'s roles. 

C. Define a lifecycle listener to intercept the HTTP request for the application\\'s URL 

D. Use the Configure ADF Security wizard to enable secunty for the application. 

E. Create a login page and run the application authenticated as the test-all user. 

Correct Answer: D 

 

QUESTION 3

Identify the two phases in the JSF life cycle that are always processed for a request, regardless if errors occur. (Choose
two) 

A. Restore View 

B. Apply Request Values 

C. Process Validations 

D. Update Model Values 

E. Invoke Application 

F. Render Response 

Correct Answer: AB 
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QUESTION 4

Consider a bounded task flow input parameter called employeeld of type oracle jbo.domain.Number. When defining the
parameter in the bounded task flow, if you do not define a value (destination) for the parameter, where does it get
written to? (Choose the best answer.) 

A. #(employeeld) 

B. #{employee.employeeld} 

C. #{pageFlowScope employeeld} 

D. #{pageFlowScope employee employeeld) 

E. #{backingBeanScope employeeld) 

F. #{backingBeanScope employee.employeeld) 

Correct Answer: C 

 

QUESTION 5

Select three options that page template developers can use when creating a page template. (Choose three.) 

A. Create a page template based on a quick start layout. 

B. Create a page template based on an existing JavaServer Faces (JSF) page. 

C. Create a JavaServer Faces Fragment (JSFF) and register it as a page template. 

D. Create a page template based on an existing template. 

E. Create a page or fragment from a blank layout and register it as a page template. 

F. Create a page template from a blank layout. 

Correct Answer: BDF 
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